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Master Standard Partitioning (3 Decimal Places)

Fluency 1 Fluency 2
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Master Standard Partitioning (3 Decimal Places)

Fluency 3 Fluency 5

Combine using the part whole models and calculations. Combine using the part whole models and calculations. _?_;
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Partition using the part whole models and calculations. Partition using the part whole models and calculations.

+ + + =180.709 8.915 - =8.015
+ + =56.003 63122 - = 60.122
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Fluency 7

Combine using the calculations.
800 +10 +6 + 0.1+ 0.07 + 0.005 =
9+03+0.004-=

20+ 0.002+04+5=

_ +02+0.05+0.009=60.259

Fluency 7

Combine using the calculations.

800+10+6+0.1+0.07+0.005=

9+03+0.004-=
20+0.002+04+5=
+0.2 + 0.05 + 0.009 = 60.259

0.007 + 200 + + + 30 = 238.067 0.007 + 200 + + + 30 = 238.067
5.708 + =5758 5.708 + = 5758
Fluency 8 Fluency 8

Partition using the calculations.

Partition using the calculations.

+ + + + + = 351479 + + + + + = 351479
+ + =9.071 + + =9.071

5134-__ =5104 5134-__ =5104

12903-__ =129 12903-__ =129

71.641-__ =70.641 71.641-__ =70.641

924895-__ =904.895 924895-__ =904.895
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